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)// e/’ l m 4eThIpe ApoOH, TeCATUUHBIE IPOOH, TOPSTOK
oreparyn

Nwms: Jara: Orenka:
4,7-15%3,4+3+4%5,9= o« in sxs=
2 5
LIV T, te
4 6 5 5 4 2

3 1
4,5+5,9+2x% 2 = 2,2-2,9+5x% 2=

1 3
- Z-2x51=
2 5 ’

2 1 3
2,2+3,9x4+4x - +2= —+59x2-6x-+3=
’ ’ 5 2 7 2
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Nwms: Jara: Orenka:
133 I 1 21 1
47-15x3.4=3+4 P2 L l0X = +2—4x3=(—2)= (=10~
T15%3,4+344x5,0= ~ 2= 11 S +10% < *3=(-3)=(103)
16 5 U60 54 220 ‘20
3 58 3 12
45+59+2x>=22_12 22-2945% = =
33,9+ 2x o= =13 272945 6= 13
13 1 17 .5 13 103 3
-+ =+ —=—=2- ——=-2 l=(F—7)=(10—
3t319" 575 7% 5 5 271 =0g) =0
2 %3 3 1 3 3 3
20+ 4+4x 0= — 182 Sy 2—6x2+3= =09
23,9 x4t 43 5~ 183 5 F29x2-6x3 0 10
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